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Recommended time the manager can visit and see at least 3 different tasks in action 
= 6, 7, 8, 9 and 10 as it would depend on task D start time. For example if Task D 
started week 6 then the supervisor would see Task E, task B and task D. If Task D 
started in week 7 than the supervisor would see task F, Task C and Task D etc.                                                                                              
 
For task D the total and free float is 2 weeks. Therefore if task D is delayed by 2 or 
less weeks there will be no effect as it will not change the earliest start time for a 
preceding task or alter the critical path. However, if the task is delayed for more than 
2 weeks it will become part of the new critical path (A – D – G – I) which means the 
minimum finishing time will be extended.      
 
 

 Free float Total Float 
A 0 0 
B 3 6 
C 0 3 
D 2 2 
E 0 0 
F 0 0 
G 0 0 
H 3 3 
I 0 0 

 
The above total shows the float (weeks that could be used as delays). This could 
cause implications for the scheduling of supervisors because if they exceed the float 
they will need to either extend their hours of hire new staff depending on the time of 
the delay.   
 
 

 
 
 
 




